
 
 

GLOBAL HEADQUARTERS
3451 Rider Trail South

St. Louis, MO 63045

T 314.739.4120

www.idxcorporation.com
CONFIDENTIAL:

This drawing and the information herein are the 

exclusive property of idX Corporation. Any 

reproduction or use without express written consent

is strictly forbidden.
 

CA TITLE 17:

All composite wood products (MDF, PB, HWPW) are 

compliant. Place compliance label as shown within

drawing (or per current standard) and do not 

remove after installation.

 

DIMENSIONS: 
All dimensions are in inches unless noted other

wise - views are not to scale unless noted.

ITEM No:

SHEET:

1  OF  4 

REV No:

DESCRIPTION:

CUSTOMER REF No:

CUSTOMER:

DRAWN BY:

DATE:

6 FT END CAP_SUBMITTAL

6 FT END CAP

 

 

 
BLACKHAWK

7/31/2013

mgrubbs

DOCUMENT No:

PROJECT:

LE
G

A
C

Y
 -

 V
A

N
TA

G
E
 N

o
: 

  
  

  
  
 A

S
4

0
0

 N
o

: 

6 FT END CAP_SUBMITTAL.dwg

THIRD ANGLE PROJECTION

TOLERANCE

UNLESS OTHERWISE NOTED

X.XXX ±0.031 in [X.X ±0.8 mm]

X.XX ±0.06 in [X.X ±1.5 mm]

X.X ±0.1 in [X.X ±2.5 mm]

ANGLES ±1~
FRACTIONAL ±1/32 in

DIE LINES

REFERENCE C CHANNEL SIZE QTY

A1 23 X 7 1

A2 23 X 3 1

A3 23 X 4.5 2

D1 17 X 3 4

D2 23 X 3 2

D4 43-21 X 13.5 2

D5 8.6875 X 3 2

D6 23 X 3 1

D7 4 X 3 2

D8 4 X 22 2

D9 35.75-24 X 7 1

R1 26.125 X 7 2

R6 61.625 X 7 2

R7 45.625 X 7 1

APPROVED AS DRAWN

APPROVED WITH CORRECTIONS NOTED

REVISE AND RESUBMIT

REVIEWED FOR:__________________________________________

BY:______________________________ DATE:_______________

A1

A3

A3

R1

R6

D1

D2

D1

D8

D4

D5 D5

D6

R7
R6

D7

D9
D8

R1

A2

D2

D1

D1

D7

D4

AS SHOWN INSTALLED



VIEW1

SCALE 1 / 21

VIEW3

SCALE 1 / 21

VIEW2

SCALE 1 / 21

GLOBAL HEADQUARTERS
3451 Rider Trail South

St. Louis, MO 63045

T 314.739.4120

www.idxcorporation.com
CONFIDENTIAL:

This drawing and the information herein are the 

exclusive property of idX Corporation. Any 

reproduction or use without express written consent

is strictly forbidden.
 

CA TITLE 17:

All composite wood products (MDF, PB, HWPW) are 

compliant. Place compliance label as shown within

drawing (or per current standard) and do not 

remove after installation.

 

DIMENSIONS: 
All dimensions are in inches unless noted other

wise - views are not to scale unless noted.

ITEM No:

SHEET:

2  OF  4 

REV No:

DESCRIPTION:

CUSTOMER REF No:

CUSTOMER:

DRAWN BY:

DATE:

6 FT END CAP_SUBMITTAL

6 FT END CAP

 

 

 
BLACKHAWK

7/31/2013

mgrubbs

DOCUMENT No:

PROJECT:

LE
G

A
C

Y
 -

 V
A

N
TA

G
E
 N

o
: 

  
  

  
  
 A

S
4

0
0

 N
o

: 

6 FT END CAP_SUBMITTAL.dwg

THIRD ANGLE PROJECTION

TOLERANCE

UNLESS OTHERWISE NOTED

X.XXX ±0.031 in [X.X ±0.8 mm]

X.XX ±0.06 in [X.X ±1.5 mm]

X.X ±0.1 in [X.X ±2.5 mm]

ANGLES ±1~
FRACTIONAL ±1/32 in

A

48.25
[1225.6 mm]

76.5
[1943.1 mm]

DOOR TO SWING OPEN

MIN 90 DEG. MAX 100 DEG.

75
[1905 mm]

7.25
[184.2 mm]

26.125
[663.6 mm]

83
[2108.2 mm]

7.135
[181.2 mm]

48.865
[1241.2 mm]

FINISH SCHEDULE

CALLOUT FINISH

PB-1 PEGBOARD, BLACK

MEL-1 MELAMINE, BLACK

MEL-1

 
MEL-1

 

MEL-1

 

PB-1

 PB-1

 

MEL-1

 

MEL-1

 
2.99

[75.9 mm]

10
[254 mm]

DOWN TO

GRIPPER

3.5 X 75

PEGBOARD

3.5 X 75

PEGBOARD

9.5 X 75

PEGBOARD

23.94 X 75

PEGBOARD

9.5 X 75

PEGBOARD

23.5 X 75.75

PEGBOARD

17.35 X 75

PEGBOARD

18.31 x 75

PEGBOARD

23.28 X 75

PEGBOARD

STORAGE

CART

INSIDE

STORAGE

CART

INSIDE



VIEW A

SCALE 1 / 16

VIEW4

SCALE 1 / 16

GLOBAL HEADQUARTERS
3451 Rider Trail South

St. Louis, MO 63045

T 314.739.4120

www.idxcorporation.com
CONFIDENTIAL:

This drawing and the information herein are the 

exclusive property of idX Corporation. Any 

reproduction or use without express written consent

is strictly forbidden.
 

CA TITLE 17:

All composite wood products (MDF, PB, HWPW) are 

compliant. Place compliance label as shown within

drawing (or per current standard) and do not 

remove after installation.

 

DIMENSIONS: 
All dimensions are in inches unless noted other

wise - views are not to scale unless noted.

ITEM No:

SHEET:

3  OF  4 

REV No:

DESCRIPTION:

CUSTOMER REF No:

CUSTOMER:

DRAWN BY:

DATE:

6 FT END CAP_SUBMITTAL

6 FT END CAP

 

 

 
BLACKHAWK

7/31/2013

mgrubbs

DOCUMENT No:

PROJECT:

LE
G

A
C

Y
 -

 V
A

N
TA

G
E
 N

o
: 

  
  

  
  
 A

S
4

0
0

 N
o

: 

6 FT END CAP_SUBMITTAL.dwg

THIRD ANGLE PROJECTION

TOLERANCE

UNLESS OTHERWISE NOTED

X.XXX ±0.031 in [X.X ±0.8 mm]

X.XX ±0.06 in [X.X ±1.5 mm]

X.X ±0.1 in [X.X ±2.5 mm]

ANGLES ±1~
FRACTIONAL ±1/32 in

74.75
[1898.7 mm]

DOOR

90.125
[2289.2 mm]

FINISH SCHEDULE

CALLOUT FINISH

PB-1 PEGBOARD, BLACK

MEL-1 MELAMINE, BLACK

MEL-1

 MEL-1

 

MEL-1

 

MEL-1

 
MEL-1

 

PB-1

 

4
[101.6 mm]

DOWN TO

GRIPPER

17.35 X 75

PEGBOARD

23.28 X 75

PEGBOARD

18.31 X 75

PEGBOARD

23 X 81.75

PEGBOARD



GLOBAL HEADQUARTERS
3451 Rider Trail South

St. Louis, MO 63045

T 314.739.4120

www.idxcorporation.com
CONFIDENTIAL:

This drawing and the information herein are the 

exclusive property of idX Corporation. Any 

reproduction or use without express written consent

is strictly forbidden.
 

CA TITLE 17:

All composite wood products (MDF, PB, HWPW) are 

compliant. Place compliance label as shown within

drawing (or per current standard) and do not 

remove after installation.

 

DIMENSIONS: 
All dimensions are in inches unless noted other

wise - views are not to scale unless noted.

ITEM No:

SHEET:

4  OF  4 

REV No:

DESCRIPTION:

CUSTOMER REF No:

CUSTOMER:

DRAWN BY:

DATE:

6 FT END CAP_SUBMITTAL

6 FT END CAP

 

 

 
BLACKHAWK

7/31/2013

mgrubbs

DOCUMENT No:

PROJECT:

LE
G

A
C

Y
 -

 V
A

N
TA

G
E
 N

o
: 

  
  

  
  
 A

S
4

0
0

 N
o

: 

6 FT END CAP_SUBMITTAL.dwg

THIRD ANGLE PROJECTION

TOLERANCE

UNLESS OTHERWISE NOTED

X.XXX ±0.031 in [X.X ±0.8 mm]

X.XX ±0.06 in [X.X ±1.5 mm]

X.X ±0.1 in [X.X ±2.5 mm]

ANGLES ±1~
FRACTIONAL ±1/32 in

MODULE "A"

MODULE "D"

KIT PACK

SUBJECT QTY

SCR WD PAN PH 08X0.75 ZN 4

POLYBAG 08X10.00 2MIL CLR 1

LVLR 1.50X02.75X002.06 PTL STL 1

EB .18X0.93 BLK PVC 2

GLIDE SCREW IN NYLON WHITE 1

LVLR FOOT 3.50 HEX THR 3/8X16 1

UNIVERSAL FASTENER NATURAL NYL 12

FASTENER REMOVER TOOL PLASTIC 1

MAGNET NEODYMIUM DISC 3/4" X 1

NUT 1/4-20 NC ZINC 12

WASHER FLAT 1/4 ZINC 24

BOLT HEX HEAD 1/4-20X2 ZINC 12

BOLT HEX HEAD 1/4-20 X ZINC 6

L BRACKET 3/4X3/4X1-3/4 BENNET 1

MARKER BLACK SHARPIE KING SIZE 1

GRIPPER BLACK 16" LONG 2

CHANNEL 3" X 17" 2

A3 - DIE LINE - 23 X 4.5 2

C4 - DIE LINE - 4 X 22 2

SHIPPED IN COMPONENTS AS SHOWN

COMPONENTS SHIPPED

QTY COMMENTS COMPONENT QTY's

1 MODULE A

     STORAGE CART 1

     BINS 30

     TRAYS 1

     FACINGS 150

1 MODULE D 

     FACINGS 350

1 KIT PACK

SHIPPED LOOSE

INSIDE KIT PACK

SHIPPED LOOSE

INSIDE KIT PACK


